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Deriving 4" Order Acceptance Correction
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Acceptance Correction QA (pT dependence)
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Acceptance Correction QA Comparison
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Acceptance Correction QA Comparison
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Rapidity Dependence [n| < 1.0 (Raw)
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Rapidity Dependence [n| < 1.0 (Corrected)

10<pT<166ev/c

05
0.45—
0.4~
8
a

0A35 B

0.3; —:
: | | | :
0 20 40 60 80
Centrality (%)

. 24<pT<3.4Gev/c
0A45:— —
- M N
8 | M T ]
0.35}-1 ¥ * . ¥_
......................... ¥
oa~|| [1] -
- .¥. PR | | |
Y] 20 40 60 80

Centrality (%)

16<pT<24Gev/c

0.5

0.45

0.4

0.3

035k

AL L L L L T T T T TS

Centrality (%)

34<pT<SOGev/c

------

o4t | ¥ ¥ .
il ¥ ...... ;

03b ¥ ~
1 . 1 1
b 20 30 ) B0

Centrality (%)




pOO

Rapidity Dependence [n| < 1.0

Raw Fully Corrected
O.5I— 1 1 I | 1 1 I I I I I 1 1 1 1 0.5 I - - - ] - - - I - - - I - - - I
-STAR Preliminary . [STAR Preliminary |
RRaw ¢ BES-II . '_W BES-I ( 1
% N -1l (lyl < 1.5)
045 1 0.45 |
:po =18 : =p_=1/3 7]
0.4 __ —— 0'4 - —
- . o = -
o - .
- — Q. i |
0.35; 2 9 - 0.35 :4 b Ve S 0 ¥ % 58 1 ¥ a
e ¥ ¥ ¥ a9 - s ¥ 0
93— B 0.3 -
I_ llj A .1‘ ﬁ ! | ! ! ! | ! ! ! T I_ U A 1 6 | | _I
0 0 40 60 80 0 1 1 1 o I 1 40 1 1 1 60 1 1 1 80

Centrality (%) Centrality (%)



Summary and Outlook

* 4t order acceptance correction derived and in place for all studies.
* Does not significantly change the result for BES-II pT dependence.
* [s important for rapidity dependence (did not do QA study for centrality yet).

» Rapidity dependence code in place for 1.0 <pT < 3.0 GeV/ec.

* Very low yield in edge bins for 3.0 <pT < 5.0 GeV/c, specifically for the 50-
80% centrality bin which causes error in yield extraction on edge bins.

* Consider rebinning in rapidity, centrality, and/or pT (2 pT bins, very wide
second bin, or increase edge rapidity bin width).
* Centrality dependence code 1n place for 1.0 <pT < 5.0 GeV/c.
* Very low yield in 70-80% centrality, 3.4 <pT < 5.0 GeV/c bin.
* Consider rebinning slightly in pT (3 bins, very wide 3™ bin).
* Show efficiency correction step (will do first thing tomorrow).

* Repeatedly attempted to perform event mixing for TPC only n| < 1.0
with subset of files in from BES-II 19.6GeV, but they keep failing.

* Going to try with very small number of files per job, maybe 1 or 2. I believe I
was using 5 files per job previously and many jobs failed or were held.
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